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5‘1.
ﬁto the microwave reglion.

5/ 9.What

ENTRANCE EXAMINATION FOR THE GRADUATE SCHOOL

OF CHEMISTRY, CHENG KUNG UNIVERSITY
from the red end of the visible region

The spectral range for mid-IR reglon
covers the frequency range from to cm . IR involves
the motions of the atoms in a molecule. There must be a
change of in order to abhsorb IR radiation.

An IR-detector that ultilizes (1) the expanslon of a sollid
or Eluld is a (2) electrical resistance is a .
(3) voltage induced at the junction of two dissimilar materlal is

a

The IR reqlon extends

-
The most frequently used IR-source is a Nernst Glower, which

is constructed from a fused mixture of oxides of R ,
and .
6%2. A conductance cell was filled wilh KCJ) salution that has a
specific conductance of 0.0128 mho/cm. The measured
(1) What is the cell factor K?

reslistance at 25°C was 48.3 ohms.
When the same cell was filled with 0.100 N CdCl, , & resistance

123.7 ohms was obtained. (2) what is the equivalent conductance
of the CdClisolution?

determined at 25 C to be 14.4. Calculate both the degree of

QK 3. The -eguivalent conductance of a 0.0125 N acetic acid was

dlSSOClatlon and the 1| an . o
o] atlon constant Provided the lilllitlll‘[
EC]ulValent conductance for hydrolllul" ion 1s 349.8 and that of

acetate ion is 40.9.

o:iengation of the electrons for a ground singlet state
groun doublet state, an excited singlet state and an it 3’
triplet state. exeited

52 gaAlgef;e?tiye djffraction grating contained 1750 grooves/mm. The
g of incidence of a band of polychromatic radiation was 48.2‘

Determine the : & i
petern h wavelenglh that are diffracted at an angle of

QA 6.Draw a premix burener for atomic absorption and describe all

the processes that occur in the burner.

&Z>7.Why are the Stoke-Raman lines more intense than the anti-Stoke

Raman lines?
8. i
How to obtain a NMR-spectrum by using Pulse FT-NMR experiment?

absorption? How to aviod these interfernces?

2 4.P i
4/ repare a sketch showing the energetic 1levels and the
a

are the chief interferences that exist in atomic
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